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QUESTION 1

Why are IBM Db2 z/OS customers uniquely positioned to take advantage of hybrid transactional and analytical
processing (HTAP)?

A. They can leverage high-value, sensitive data in a security-rich environment with the IBM Db2 Analytics Accelerator.

B. They can use IBM Open Data Analytics for z/OS to securely combine data and insight from sources other than IBM
Z.

C. They can easily scale with Db2 for z/OS Machine Learning.
D. They can use IBM Query Management Facility (QMF) to reliably optimize IBM Z data sources.
Correct Answer: A

Reference: https://www-01.ibm.com/common/ssi/ShowDoc.wss?docURL=/common/ssi/rep_ca/8/897/
ENUS219-248/index.htmlandrequest_locale=en (overview)

QUESTION 2

A customer has multiple IBM Z servers in their z/OS environment.

Which of the following is designed to provide 99.999% application availability?
A. z/VM hosting z/OS guest systems

B. Parallel Sysplex

C. Single System Image (SSI)

D. Dynamic Partition Manager

Correct Answer: B

QUESTION 3

A customer starts using z/OS Encryption Readiness Technology (zERT) to gather knowledge about the state of
encrypted network traffic in their system. They also use Sysplex Distributor, so there is TLS-encrypted traffic routed
through the distributor systems to application hosts. The distributor systems also host TLS-encrypted TN3270 services
for the network.

They started gathering data from the Sysplex Distributor hosts, since encrypted traffic is routed through those systems.
A large number of encrypted TCP sessions seem to be missing from the customer\\'s analysis.

What does the customer need to do to gather full analysis data?
A. Start gathering zERT data on all z/OS systems in their environment.

B. Configure the zERT collection correctly on the Sysplex Distributor hosts.
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C. Move the collection of data to the z/OS application data hosts.
D. Move the collection of data to the network routers neighboring the z/OS systems.

Correct Answer: D

QUESTION 4

A client from the banking industry operates its IBM Z environment in two data centers with a database of 10 kilometers
(6.2 miles). Each data center has one IBM z14 and one DS8K storage system, which are PPRC enabled.

Due to regulations, this client has the need to implement a near-continuous availability solution including long-distance
disaster recovery for a new-to-build third site with a new third storage system.

Which of the following solutions satisfies the requirements?
A. GDPS Metro Global Mirror

B. GDPS Metro HyperSwap Manager

C. GDPS Metro Global - XRC

D. GDPS Global - GM

Correct Answer: B

Reference: https://www.ibm.com/developerworks/community/blogs/accelerate/resource/
GDPS_Update_100317.pdf?lang=en (16)

QUESTION 5

A customer currently owns a z13s. The customer decides to purchase a z14 ZR1 and connect it to the z13s in a Parallel
Sysplex. The two IBM Z machines will be 200 meters apart.

Which sysplex connectivity proposal is correct?

A. Add ICA SR links to the z13s and order ICA SR on the z14 ZR1.

B. Add IFB 1X links to the z13s and order CE LR links on the z14 ZR1.
C. Add IFB 1X links to the z13s and order IFB 1X links on the z14 ZR1.
D. Add CE LR links to the z13s and order CE LR links on the z14 ZR1.

Correct Answer: B
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